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PART-A (¥ -9

Q. No. 1 (a~f) carries 1 mark each o 1x6= 6
Q. No. 2 - 7 carries 2 marks each _ 2x6 =12
Q. No. 8 ~12 carries 4 marks each  4x5=20
Q. No. 13 & 14 carries 6 marks each o 6x2 =12

- ‘ " Total =50

PART-B (¥ -=™)

Q. No. 15 (a = f) carries 1 mark each - Ix6= 6
Q. No. 16 - 21 carries 2 marks each 2x6 = 12
Q. No. 22 -26 carries 4 marks each. ' 4x5= 20
Q. No. 27 & 28 carries 6 marks each 6x2 =12

. Total = 50

Total (PART A & B): 50 +50 =100
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PART-A / F-Si24

What does a Production Possibility Curve indicate ? , 1

@@{mmﬁﬂﬁ%ﬁr@wﬁ

If an increase in the price of good X increases the demand for good

Y, then how the two goods are related ? . s 1 .
. firg X TR W e wafimqﬁw mw@ﬁs«tm
Tl 2
Total Variable Cos_t (TVC) will be , when total .product is
zero. ’ : _ (Fill in the blank)
; | 1
5 SeoAm el CZial SRS, Y5 ARSI Th 3
S (el B2 73 F)
A firm earns normal profit when — c 1
(i) AR>AC |
(i) AR=AC
(iii) AR < AC |
(iv) MR=MC | 4 - (Choose the correct answer) .
g ARSI TR AT WRAd I @R —
i) AR>AC |
Gi) AR=AC
(iii) AR <AC |
() MR=MC  (v% St AR GRS
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(¢) In a centrally planned economy, which of the following takes all

economic decisions ? ' : 5 1
() Central Bank

(ii) - Market

(iij) Government

(iv) Both Government and Central Bank

@Wﬂﬁaﬁ—w@ﬁawwﬁﬂ%mﬁ“ﬁﬁ—m
SR 2T FR2

() @R @S
(i) IS
(iii) HIPIR

N (iv) @sﬁa@wwwé@m

(/) What are the shapes of AR and MR curve for a firm under non-

competitive market structure ? ‘ , 1
sy efSrfier Ioiw Twfe v @ T ST oF 2R Wy
GRIE W@F (BN 2

2. Mention fwo reasons that give rise to economic problems. - 2

JEE ap— (Rl b7 -PrRel T |
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What is a budget line ? Why does it slope downward ? 1+1=2

e @l e @B R v o s

If a unit tax is imposed, how does it impact the short-run supply curve of

"a firm ? Show with the help of diagram. J 2

Ty @@ T AR T T, (O fPYR q¥E ZIIEN AR IS
S ol R e wwe oryedt |

What is ‘break-even point’ of a firm ? At which point of the AC curve, a

firm under perfect competition breaks-even ? ' 1+1=2

aﬁmawwm@\ﬂﬁﬁﬁw °ffefi‘—czrrfﬁ—ﬁwf‘ 2P QI TG
Y QAR e e Tel-esl oyl die FIe

What does priée elasticity of supply mean ? Briefly explain. 2
QiR we fEfegeee /e g@R &

What is a monopolist_ié competitive market ? - 2
aifte afsrfenE A eanihaed afsrfer e e

Discuss four features of indifference curve. . 4

CE(Reicd @mmﬁﬁ‘/hﬁ@wwn
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9.  Define and draw average cost and average variable cost curve. Why these’

two curves can’t touch each other ? - . 3+1=4

%m%%ﬂﬁaﬁ%ww\wmwaﬂrﬁ (1 T SR |
uﬂimma (T2 7 Wmfaﬁa RN ?

OR/ 93/

The Total Cost (TC) schedule of a productlon unit is given below. Find out
THC, TVC AC and MC : ' _ 4

aﬁ@wﬁ csfﬂﬁgtm('rcmﬁﬁwﬁm?&m@%w (TFC),?X
AN 7 (Tvc:),sm_am(AC)wmﬁasm(Mcmrﬁﬁﬁﬁwwn_

Quantity Produced - TC
- Tesig sifemia
0 | 10
1 | 40
2 60
3 80
1 K %
5 s 110
6 B 130

7 ‘ 160
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10. Mention four differences between perfect competition and monopoly.

oif efraion T@ F GFHOA e SIRG! Sy o

11. The demand and supply functions of a cor.n.rnodity-. is given by
Q=100 -2P o |

Qs;=2P-60
Find :

(i)  Equilibrium price
(i) Bquilibrium quantity. S . 3+1=4
| &S Bl TR mmmm&mwﬁmmm
Qd= 100-2P

Q,=2P - 60
() ORI TE S

(i) STy Besw SARET A T
. OR/9%df
Explain with the help of a diagram, how shifting of the supply curve of a

commodity affects its' equilibrium price and output 4

B GO o WWWWWW@QWW%W
deifie R ey TS A 4 | |
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12

13.

“What do you understand by returns tq a scale ? Write the meaning of

constant, increasing and decreasing returns to scale. - 1+3=4

waﬁmqﬁmﬁsqm‘zw mwwmwmw
ferat|

OR /594t

State the reasons behind the working of the law of diminishing marginal

| product. - ‘ . 4

TP 2R Bt ik TR |

State and explain the law of demand with the hélp of an imaginary

schedule and diagram. - ‘ 6

mﬁmﬁwwamwmwﬁw@wmww
YT 3 |

OR/ 924t

Calculate price elasticity of demand by expenditure method :

(i) If an increase in price from Rs. 10 to Rs. 12 per unit lowers quantity"

demanded from 25 units.to 20 units.

(i) If an increase in pnce per unit from Rs 8 to Rs. 10 lowers quantity

demanded from 20 to 16 umts

~(iii) If a decrease in pnce from Rs. 12 to Rs 8 per unit mcreases quantity

demanded from 20 to 28 units. . . 2+2+2=6

30T ECON | BN ¢4 Contd.



14.

I @] iRace bz Ffogsieo s 11 8

6 ofS 9T TR TR loi‘aﬂaﬁlzmﬁﬁi’mmﬁﬁw%@w
#4120 G0 T T |

(i) oS 9% wE 1 8 T #1110 Thitet 3w e SIfRmE AR 20 g
{1 16 GFRC T A | :

(iii) aﬁﬁwmﬁa 12 5I% 2131 8 BeiteT 2131 TTe bifRwl 20-9 711 28 G
= =i | "

Define :

(i) -Total Product (TP)

(ii) Ayerage Product (AP)
(iii) Mafginal Product'(MP) :

Explain the relation between AP and MP with the help of suitable

- diagram. : | 1+1+1+3=6

gz foradl g ,

() & TeHAma

Gi) TG TeoAwd _

(i) AT s | J/

w@aﬂmmm@aﬁw@awﬁ@ﬁwmmmwl
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(i)

OR/ 5%

What is production function? - o A 1

CeA o T (I 9

(i)

(iii)-

What do you mean by fixed factor and variable factor of production ?

Give examples. E 2

Beote fot Soliin. W afadrfior Sotm er s o SrrPg
fert | o

The production function of a firm is given by Q =212K2,

Find out the maximum possible output that the firm can produce
with 5 units 'of L and 2 units of K. What is the maximum poésible

output the firm can produce with zero (0) units of L. and 10 units

of K? . | S ' 3

fran wiee @37 efSHmT Besiv oW Q = 21.2K2)

5 GFF L SIIF 2 435 K-3 72 2SOt sieefivs R (als wy Sty

_ WW?ﬂW(O)&@LWlOQWK—?W&%@W@QW _

30T ECON
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15. (a)

(®)

(©

(d)

(e)

16.- Define intermediate good. How intermediate goods are different from

" PART-B/ 4-uiod

What is the relation between MPC and MPS ?

MPC 9i% MPS-T TSR 77=9F 721 |

What is investment ?

Rt B2

What do you mean by ‘velocity of circulation’ of money ?

W‘Wﬂ%@ﬁ’gﬁ%ﬁ%qm? '

Who is known as the ‘lender of last resort’ ?

O/ A el I T Uil 72

What is government budget ?

5N AT e

“In which year GST came into effect in India ?

@WWWWGSTWQW?@Q?

capital goods? -

S!S TR R o T ot ojge
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17.

18.

19.

20.

21.

 multiplier ?

erwifre Rifica s 2% () Rivcansm siey

What is investment multiplier ? If Rs. 200 crore increase in investment

increases income by Rs. 800 crore, then what will be the value of inveétment

1+1=2

R e 52 20z 200 oM S Rl 9 i 800 o St R o

cors Rt wdss v Ry o |

Write the differences between ex-anfe investment and ex-post investment.

2

Mention two points of superiority of Selective Credit Measures over

Quantitative Credit Control Measures. ' 2

ﬁﬁmﬁ“wﬁa@q%ﬁamwﬁmﬁwﬁ@ caréﬁaﬁni
Trad 4

Write fwo differences between revenue expenditure and capital expénditure.
. : . | 2

WWWW@WW@ sty fa |

What do you mean by devaluation of currency ? How does it affect the

import of a country ? _ : 1+1=2

R SR e gEe R SR O R S SREe

REME ASIRS FE?
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24.

Define GDP. Can GDP be used as an index of welfare of a country ? Justify
1+3=4

your answer.

GDP-= el Bl | GDP-F (7 373 Feqiad o0 ool IR IR A2
m%wmgﬁsmmml

How does the central bank use its quantitative cred1t control measures to
control inflationary situation of an economy ? 4

aww@ﬁmﬁwﬁﬂz«wm@ﬂ@wwﬁmﬂ—mm«
WWWW?

 OR/9%d

‘Write a note on ‘demonetisation’. . 4

‘ﬁt{mmcf’a Ram oS Gt |

What is a Deficit Budget ? Why a deficit budget is con51dered beneficial
than a surplus budget for a developing economy ! ? 1+3=4

s < o e e s (R oL 1 AT o S

25,

26.

fismﬁcamww?

'Mentlon four differences between D1rect taxes and Indirect taxes 4

oforF 39 WIS S 39 NG 50 sfefer B

(i) What is balance of payment? . : 1
AR el e ‘
(i) What are the two main components of balance of payment ? 1

SRreMEA TS T Som o7 [ /e

(iii) Write two differences between balance of payment and balance of
trade. ' 2

sfRpigR el % AT ATOR 75 Ny e
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OR/ @33t

Write briefly about :

(M Open Economy

(i) Exchange Rate.
B foral ¢

@) Te 9Mmife

(i) Rfww gm)

27. Explain the procedures of calculatin

method.

g National Income by value-added

I FACH ARSI SO A ofoi1 S99 <R Jiy 1|

OR/ 524t

From the data given below calculate :

(i) - GDP at factor cost

(i) GNP at market price

(iii) NNP at factor cost

(a)
(b)
(c)
(d)

©

0
(8)
(h)
(i)

30T ECON |

Consumption Expenditure
Investment Expenditure
Government Expenditure-
Export

Import

Net factor income .from abroad
Indirect taxes

Subsidies

Depreciation

[13]

Rs. 2,000 crores
Rs. 1,200 crores

Rs.
Rs.
Rs.
Rs.
Rs.
Rs.
Rs.

450 crores

2+2=4

6

80 crores

95 crores
60 crores
90 ‘crores
80 crores

30 crores
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g OF A9 2
(i) Gem TTS /7 T B (GDPrc)
(i) <G IS :[S/ga TS BeslvA (GNPMP)

(i) o S e /ege To Sesw (NNPgc) 7l 41

(@) Toren I s 2000 G B
© RRes gy 3 1,206
(© bIR IT s - 450 e m
@ R . 80 e
() wmﬁ | | 2 9% s
0 ﬁwmﬁ:@%@wﬁm § B
(g) WW' | k 90 - ” y
) @R - 80
@ www T

28. Explain the process of equilibrium income determination of an economiy
with the use of aggregate demand -and aggregate supply curves.
| 6

SR Gl S BIEW (R TS Q4 SAIeT SRy oa Redfaela eifemi!
foarrz A S| g '
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OR / G241

What is aggregate demand ? Discuss the components of aggregate demandé
1+5=

A SR fe T SRR SomTE sl < |

30T ECON 3 [13]




